
Stainless Steel Accessories 

 

PAGE 1 OF 1 00813017 DECEMBER 2017 

MACK CH, SKIRT KIT 

INSTALLATION INSTRUCTIONS      

 

Sleeper: 

1. Hold Sleeper Panel in place on truck, and mark (6) mounting holes. 

2. Drill Sleeper Panel mounting holes, as marked in step 1, using a 7/32” drill bit. 

3. Fasten Sleeper Panel to truck with (6) provided 10-32 bolts, nuts, and washers. 

 

Cab: 

4. Hold Cab Panel in place on truck with the back end of it butted-up against the Sleeper Panel, and mark (4) 

mounting holes. 

5. Drill Cab Panel mounting holes, as marked in step 4, using a 9/32” drill bit. 

6. Fasten Cab Panel to truck with (4) provided ¼-20 bolts, nuts, and washers 

7. Fasten Cab Panel to Sleeper Panel with (1) provided ¼-20 carriage bolt. Use the provided 9/16” washer, then 

7/16” washer, and locknut. 

 

Extender: 

8. Hold Extender Panel in place on truck, and mark (3) mounting holes. 

9. Drill Extender Panel mounting holes, as marked in step 8, using 7/32” drill bit. 

10. Fasten Extender Panel to truck with (3) provided 10-32 bolts, nuts, and washers 

11. Fasten Extender to truck with (2) provided 10-32 bolts, nuts, and washers. 

 

12. Repeat all steps for other side of truck. 

 

 

  


